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el = cos() + jsin(h) (18)
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Ae? I — Afcos(2mft) + jsin(27ft)} (19)
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Re{Ae? 2™} = Acos(2n ft) (20)
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>> fs=8000;

>> t=0:1/fs:1;

>> cs=exp(j *2*pi *440+t);
>> Y= . (cs);

>> soundsc(y,fs)
>> plot(y(1:100))
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1. y(t) = 0.5 cos(2w440t) + 0.3 cos(2w660¢)

2. y(t) = 0.7 cos(27440t) 4 0.1 cos(2m440¢t + &)
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F(t) = 2w440t (21)
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f@:%ﬁ+w+€ (24)

0000C 0000000000 ces0000CO0000000000000000000000 ¢=000
OO00f¢) 000000000

F(t) = 5t + bt (25)
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>>a=_______ ;

>> b=_______ ;

>> t=0:1/fs:1;

>> f=af2 « ______ +bxt;

>> ch=______ (exp(j *2+*pi *f));

>> soundsc(ch,fs)

>> spectrogram(ch,hann(512),256,512,fs, "yaxis ')
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o =@ + bsin(27 f,t) (26)
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>>a=________ )

>> b=________ ;

>> fv= . )

>> fs=8000;

>> t=0:1/fs:1,;

>> 1= o= )
>> plot(diff(f))

>> vib=exp(j *2xpi *f);

S>> Y= . (vib);

>> soundsc(y,fs)
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